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108 0.9 37.56 23.2 0 61.66
118 0 40.77 13.53 0 54.30
128 1.14 37.95 2.37 0 41.46
18 0 19.98 1.51 0 21.49
2R 1.05 32.33 5.13 0 3851
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4 KERE
(1) sk

REEBLA 48198 | 585176 | 68148 | 78198 | 85308 | 98206 | 108188 | 112158 | 128138 | 18178 | 2878 | 3R2/8
FHEER EZ53 okl | RERE | RERE | REHE | 0THE | RERE | REHE | REHE | RERE | RERKE | BREHE | #ERE | RERE
KFEAFVIRE (ph) = 5.8~8.6 7.4 7.4 75 6.7 7.2 7.4 7.2 7.4 7.2 7.1 741 14
FEYEE (SS) mg/Q 60LLF B ES 1K 1K 1K 1K 1K 1K ES 1K 15K 1K
{EZHEERZERE (COD) mg/4 9LUT 08 1.2 1.1 1.2 1.2 1.8 23 1.4 2.5 2 24 2.1
EYILFHBRERE (BOD) mg/Q 60LLF 0.5%# 0.5%# 0.8 0.9 0.5K# 0.5%# 0.7 0.5K# 1.6 0.55%K % 1.2 05K
TBiE14> (CQ-) mg/4 - 180 150 290 130 150 160 130 190 200 140 140 180
PN 18/ cnit 300050 F 0 0 0 0 0 0 0 0 0 0 0 0
B mg/4 1204 F 10 8.4 6.0 49 11 5.6 1.9 1.4 23 25 3.7 11
HEEs mg/2 16T 0.06 0.06 - - 001k - - - - - _ _
TILFILKER IEEY mg/Q BHShENIE = - - = 0.00055 i = - - = - _ _
KEBRUTIFNKERZDHBDK me/¢ 0.005LAF - - - - 0.00055K 5 - - - - - _ _
WNIARUVZDIEEY mg/9 0.03LLF = = = - 0.003K 5% - - - = _ - =
WRUZDILEEY mg/2 01T - - - - 0.0055K 5 - - - - - _ _
ARBEEEYD mg/9 1T = = = = RES _ Z Z _ _ _ =
AEYOLIEEY mg/2 05 F - - - - 0.02:K % - - - - - - -
MERVZDIEEY mg/9 01T = = = - 0.0055% & — — 7 , _ - _
TR mg/Q 1T - - - - 0.1k% - - - - - Z _
RUEILETTZ)L (PCB) mg/Q 0.003LL T = = = = 0.0005k i = - B = = - _
r)yaoTFLY mg/2 01T - - - - 0.001K 5% - - - - _ Z Z
Th3yO0aIFLY mg/Q 01T - = = = 0.00055K i = = = - - - -
ooynoiay mg/2 02LLF - - - - 0.0025K i - - - - _ Z Z
mig{b k3R me/Q 0.02LLF - - - - 0.0002K % - - - - - = =
12-2/00I3 mg/Q 0.044F - - - - 0.00045k % - - - Z Z _ _
11-2/0aIFLy mg/2 1T = - - - 0.002%K% - - - - - = =
2R-12—9Y0RTIFLY me/Q 04 F - - - - 0,004k % - - - - - - -
111-k)yonxT sy mg/2 3T = - - - 0.00055% % - - - - - - -
11,2-k)/0oxTsy mg/Q 0.06 L F - - - - 0.0006K i - - - - - Z _
13->/an7axky mg/2 0.02LLF - - - - 0.0002% % - - = 5 Z Z -
FITL mg/4 0.06 L F - - - - 0.0006K i - - - - - Z _
DA mg/2 0.03LLTF = - - - 0.0003% 3% - E = = = 5 _
FARUAILT mg/Q 0.2 - - - - 0.0025% & - _ _ _ _ Z _
A mg/2 01LLTF = - - - 0.001%k% - E = = = 5 _
LLURUZDIEEY mg/Q 0.1LLF - - - - 0.002K ji - - - - _ _
14-DF F 49> mg/2 05U - - - - 0.0055% i - - - - - - -
IF5RRVZDIEEY mg/Q 500 F - - - - 0.4 - - - - Z _ _
SOREVZDIEED mg/Q 150 - - - - 0.32 = — _ _ _ _ _
FTUEZT TUEZTILED, R Z _
] 2002F - - - - i - - - - - - -
JILRILATHY SIkihEE mg/Q 50T - - - - 05%k% — _ _ _ _ - _
HMEMESEE | DEYRES mg/Q 30T - - - = 0.5 - - _ _ _ _ _
Jx/—)VEERE mg/2 5LLF - - - - 0.015kE - - - _ _ Z _
HatE mg/2 3UTF = E - - 001K - - = = = = =
HINEHE mg/Q 2LLT - - - - 001k - _ _ _ _ _
BRMESBEEE mg/9 10LLF = = = - 0.055% % — — _ _ _ _ _
BREMETVAVERE mg/Q 10LLF - - - - 001K - - - - _ Z _
JOLERE mg/Q 2L = = = = 0.025k % _ _ _ _ _ _ _
BAFF U8 pg-TEQ/L 10 L' F - - - - - - - - - 0.000054 _ _
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(2) #TKCERR)

AHERLEAR _ 48198 | 58178 | 68148 | 78198 | 8H30H | 95208 | 108188 | 118158 | 128138 | 18178 2878 | 3H278 |
FHEEE EX R BRERER | RERER | RERR | BERER | BTRER | RERE | RERER | BEREE | RERER | RERER | BEER | BEER
7 ILEILIKER (A—Hg) mg/L BREShNE - - - - 0.0005% % - - - - = = =
#7KER (T—Hg) mg/L 0.0005 LI F - - - - 0.00053 i# - - - - - - -
hbE)L(Cd) mg/L 0.003L4F = = = - 0.0003% % - - - - - - -
1 (Pb) mg/L 001 LUF - - - = 0.001K% - - - - - - -
Nffiz0.L (Cr6+) mg/L 0.02 T = = = - 0.002:K i = = - - - - -
At (As) mg/L 001 LUF - - - = 0.001K% - - - - - - -
£ 7> (CN) mg/L BHShENIE - - - - 01K - - - = = = =
RUEILETZ=)L (PCB) mg/L BHEShENIE - - - - 0.00055% i - - - - - - -
rJHOOTFLY meg/L 001 LIF - - - - 0.001 K5 - - - - - = -
FhSOAIFLY mg/L 001 LUF - - - = 0.0005 i# - - - - - - -
SHOOARY mg/L 002 LLIF - - - - 0.0025% i - - - - - - =
Mg b kR mg/L 0.002 LI F - - - = 0.0002K i# - - - - - - -
12->yn0x4y meg/L 0.004 LI'F - - - - 0.0004FK - - - - - = -
11->/00IFLy mg/L 0.1 UTFT - - - = 0.0025K 5% - - - - - - -
12->/an0TFLy mg/L 0.04 UTF = = = = 0.004K i - - - - - - -
1.1,1-k)yoaTsy mg/L 1UF - - - - 0.0005K i# - - - - - - -
112-k)/onxTsy mg/L 0.006 LLF = = = = 0.00063F i - - - - - - -
1,3->/n07oRky mg/L 0.002 LIF - - - - 0.0002K i# - - - - - - -
FI51L mg/L 0.006 LLF = = = = 0.00063F i - - - - - - -
D% mg/L 0.003 LU F - - - - 0.0003K - - - - - - -
FARAILT mg/L 0.02 UTF = = = = 0.002:K i - - - - - - -
RotEy mg/L 001 LT - - - - 0.0015K i - - - - - - -
v mg/L 0.01 UTF = = = = 0.002:K i - - - - - - -
14-OAF Y mg/L 0.05 T - - - - 0.0055K 5 - - - - - - -
g%ﬁg%g%u L 10 UF - - - = 1 = = = = = - -
5% mg/L 1 UTF - - - - 001K - - - - - - -
AD% mg/L 08 LIF = = - - 0.08K i = - - - - -
yonTFLY mg/L 0.002 LLF - - - - 0.00025 i - - - - - - -
BYVAHUEENI LHER mg/L 10LLF = = = - 1.2 - - - - = = =
BiemAA mg/L - 4 4
FAFF 5 pg-TEQ/L 1UF - - - - - - - - - 0.056 - -
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(3) #TIK(TFiR)

ABERIRLEZA B _ 48198 | 58178 | 68148 | 78198 | 8A308 | 98208 | 108188 | 118158 | 128138 | 18178 | 2878 | 38278 |
FHEEE B HEfE BRERER | RERER | RERR | BERER | BTRER | RERE | RERER | BEREE | RERER | RERER | BEER | BEER
7 ILEILIKER (A—Hg) mg/L BREShNE - - - - 0.0005% % - - - - - - -
#7KER (T—Hg) mg/L 0.0005 LA F - - - - 0.00053 i# - - - - - - -
AkIA(Cd) mg/L 0.003L4F = = = - 0.0003% % - - - - - - -
1 (Pb) mg/L 001 LUF - - - = 0.002 - - - - - - -
A0l (Cre+) meg/L 002 LUF - - - - 0.002:K i - - - - - - -
At (As) mg/L 001 LUF - - - = 0.002 - - - - - - -
£ 7> (CN) mg/L BHENENZE - - - - 01K - - - - - - -
RUEILETZ=)L (PCB) mg/L BHEShENIE - - - - 0.00055% i - - - - - - -
rJHOOTFLY meg/L 001 LUF - - - - 0.001K 5% - - - - - - -
FhSOAIFLY mg/L 001 LUF - - - = 0.0005 i# - - - - - - -
SonOiay mg/L 0.02 LIF = = = - 0.002K 5% - - - - - - -
Mg b kR mg/L 0.002 LI F - - - = 0.0002K i# - - - - - - -
12->yn0x4y mg/L 0.004 LU - - - - 0.0004 i - - - - - - -
11->/00IFLy mg/L 0.1 LT - - - = 0.002K 5% - - - - - - -
12-0/00TFLY mg/L 0.04 LI'F = = = = 0.004K 5% - - - - - - -
1.1,1-k)yoaTsy mg/L 1UF - - - - 0.0005K i# - - - - - - -
11,2-k)/ooxTsy mg/L 0.006 LT = = = = 0.00063F i - - - - - - -
1,3->/n07oRky mg/L 0.002 LIF - - - - 0.0002K i# - - - - - - -
FoTL mg/L 0.006 LT = = = = 0.00063F i - - - - - - -
P mg/L 0.003 LI F - - - - 0.0003K i# - - - - - - -
FARAILT mg/L 0.02 UTF = = = = 0.002K % - - - - - - -
¥y mg/L 001 LUF - - - - 0.001 K% - - - - - - -
v mg/L 0.01 UTF = = = = 0.002K % - - - - - - -
14-OF %42 mg/L 005 UTF - - - - 0.005:K - - - - - - -
g%ﬁg%g%u me/LL 10 UF - - - = 06 = = = = 5 - -
5% mg/L 1T - - - 0.11 - - - - - - -
S0k mg/L 08 LIF = = = - 0.14 - - - - - - -
sAaOTFLYy mg/L 0.002 LT - - - - 0.00023 j# - - - - - - -
BYVAHUEENI LHER mg/L 10LLF = = = - 6.1 - - - - - - -
BiemAA mg/L - 20 21 19 20 20 23 22 20 21 19 18 17
FAFF 5 pg-TEQ/L 1 LT = = = = = = - - - 0.041 - -
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